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14, If Ricardian equivalence is correct, then a cut in current tax,
holding government spending constant over all future periods, can be
expected to cause the real exchange rate in the foreign exchange market
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to ; however, if Ricardian equivalence does not hold, then a cut in
current tax, holding government spending constant over all future periods,
can be expected to cause the real exchange rate to __

(a)not change; rise.
(b)rise; not change.
(c)not change; fall
(d)fall; rise

15. Taiwan is small open economy with a floating exchange rate system.
Suppose that the government of Taiwan adopts a trade policy that causes
imports to fall. Comparing the original equilibrium with the new

equilibrium in the foreign exc we would expect to observe:

Mfks%
(a)no change in either j@& exitiﬁ;ts @“ the

l exchange rate.

(b)an increase in bog ne’{“ rts \‘“ exchange rate.
G
(¢c)an increase in g%;&;;r chan *’r"b&% not change in net
exports. g [ | h
‘!J
(d)an increase in ngt export b ; ngedn ’Ehﬁreal exchange rate.
'\ e |
16. According to cla$1 gﬁt regulation that is
thought to be a temporar@r@ = % toic ,. e current real output
to , the current real e to 3; d current employment to
:?U,mrr_ﬁ‘j&"f'a

(a)decrease, decrease, uncertain change.
(b)decrease, uncertain change, uncertain change.
(c)decrease, decrease, decrease.

(d)uncertain change, decrease, decrease.

17. Assume that the annual growth rate of velocity of circulation is
1% and that the annual growth rate of real GDP is 2%. In addition, assume
that the expected inflation rate equals the actual inflation rate. If the
nominal rate of interest equals 6% and the annual growth rate of money
supply equals 4%, then the expected real rate of interest equals

(a)2%.

(b)3%.

(c)d%.

(d)5%.
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18. Assume that the nominal exchange rate is £1 per dollar, that the
price level in the foreign country (Britain) is £10 per widget, and the
price level in the domestic country (US) is $20 per widget. The real
exchange rate is

(a)one-half British widget per US widget.

(b)one British widget per US widget.

(c)two British widgets per US widget.

(d)ten British widgets per US widget.

19. Suppose that there is a decrease in government spending and an
increase in money supply. The closed-economy [S-LM model predicts that
the real rate of interest will and the price level will __ in
the classical version; wheg@ﬂf%ﬂéa%te of interest will ___ and
the real output will __ 4™ """ n tﬁfé oﬁ‘— I?El}ynesmn version.

(a)fall, uncertalgf‘ fal

(b)fall,

(e)fall,

(d)fall,

20. In country X, th : é:-ﬁgl'sey supply equals 4%, and
the annual growth rate inE¢al’ out ﬂ%ﬁT‘?@untry 7. the annual growth

in the money supply is 3% *WL@Q&T output growth is 1%. Assume
that velocity of circulation gfows at an annual rate of 1% in country X
and at an annual rate of 3% in country Z. The expected inflation rate equals
the actual inflation rate. 1f perfect capital markets ensure that the real
rates of interest are the same in each country, then:

(a)the nominal rate of interest ishigher in country X than in country Z.

(b)the nominal rate of interest is higher in country Z than in country X.

(c)the nominal rates of interest for two countries are the same.
(d)insufficient information to determine which country has the higher
nominal rate.

21.An implication of the Solow growth model is:

(a)it is always socially desirable to increase the savings rate as
long as the economy is still on the positively-sloped section of the
consumption curve.
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(b)An increase in the savings rate will lead to a sustained increased
in the standard of living.

(c)If the initial value of capital above the steady state level of
capital, then actual investment per worker is greater than the amount
required to remain at the initial value of capital.

(d)The standard-of-living in two countries will converge if they have
the same technology, same population growth rate, save savings rate, and
the same capital-depreciation rate.

22.Which of the following changes is consistent with a change from
an initial trade deficit to a trade surplus? Assume a small open economy

~with perfect capital mobility.

(a)a decline in the expected future marginal product of capital.
(b)a temporary adverse supply shock.

(c)a decline in the world interest rate.

(d)an increase in expected future income.

aﬁ"l-‘ﬂg'”ﬁ-?@g
23. Assume that there 15@‘9‘}801’%&3 gthe ?@mai money supply (M).
Classical theory predlc*fé\ th end T of‘?g_hls decrease will be

a_____ in the price levﬁ ?ﬁ-‘wage (W) and a

in the real wage (W/P) ""

e
(a)fall, fall, remgﬁén == |
(b)fall, remain unc@snge se.
(c)fall, fall, rise. S >
(d)fall, remain unchax@i !’\ﬂm

1 :“J.l
24. The short-run Keyne51an vers!'%; the AS-AD model predicts that
a temporary negative supply shock will cause the price level to and

real output to
(a)rise, fall.
(h)fall, fall.
(¢)rise, uncertain.
(d)rise, remain unchanged.

25. Unemployment is a hot issue in Taiwan recently. Frictional
unemployment is unemployment caused by:

(a)wage rigidity.

{biminimum-wage legislation.

(c)the time it takes workers to search for a job.

(d)clashes between the motives of insiders and outsiders.
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3 Assume a two—period model. According to classical theory, a

constant, can be expected tq@l cald
(adan increase i
(b)decrease in
(c)an increase i i

(d)an increase it
& .

4. In the classi ‘a%
. o
to T_J *’B‘ . ‘ "
(a)a rightward sh1ft-ﬁf{€he»rmvestgnt
(b)an increase in consmnﬁrﬁa} X v
(c)leftward shift of the labor demand curve.

(d)decrease in the price level.

pply shock will lead

5. Assume a two-period model. Suppose there is an increase in
government spending (G) in the current period. After this change it is
observed that the real rate of interest does not change. Which of the
following offers possible explanations for this:

(a)the increase in G was temporary. At the same time as this increase,
there was an increase in the tax rate on the revenue.

(b)the increase in G was permanent that is financed by an equal

increase in taxes in each period.
{c)the increase in G was temporary. At the same time as this increase,

there was an increase in weal th.
{d)the increase in G was temporary. At the same time as this increase,

there was an increase in Y.
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